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Calcule os determinantes: 

 

1. |

1 1 1 1
2 3 5 7
4 9 25 49
8 27 125 343

| = 

 

 

 

 

 

 

 

 

2. 
|

|

1 1 1 1 1 1
2 3 4 1 5 6
2² 3² 4² 1 5² 6²
2³ 3³ 4³ 1 5³ 6³
24 34 44 1 54 64

25 35 45 1 55 65

|

|
= 

 

 

 

 

 

 

 

3. ||

1 1 1 1
log 7 log 70 log 700 log 7000

(log 7)² (log 70)² (log 700)² (log 7000)²

(log 7)³ (log 70)³ (log 700)³ (log 7000)³

|| = 

 

 

 

 

 

 

 

 

 

4. Resolva a equação |

1 1 1 1
1 2 𝑥 −5
1 4 𝑥² 25
1 8 𝑥³ −125

| = 0 

 

 

 

 

 

 

 

 

 

Gabarito: 
1. 240 

2. −34 560 

3. 12 

4. 𝑆 = {−5, 1, 2} 

Exercícios: Matriz de Vandermonde 
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